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SchAL SCIENCE
-1 (Part -

A : -1 A =R IE 1 (1), 1 (1), 1(|n)ai‘|t1
ol o @ fonelt wen e & wed o1 S AT R |
1(). Al s fFg e W iR R ?

Jpy afireTg
(B)

(C) wAtes
(D) 3T+Y YexT

frafafaa geon el # @ frg o e
Y 7T - 3TETE % ST st wifed g8 ® 7
(A) TETE
(B) sATEet
(C) INTE-UTeA
(D) P

1), B 3§ & -3 T & el e
I T AR 2 7

(A) T HHTST ohl ST

(B) ATCHEET (3o 3TF) hl 1aedl
(B) Ircafies o ot sreeen

(D) uftaserar it raee

1(1).

1(Iv). Forem e, TeHifa famm o s aik
FATHAF AL e e ?

(A) TFA
' (B) fefsre

(D) feui=

ad

)

(IV) 8 | OMR -9 & JIH ﬁmﬁiﬁﬂii’t 5

1(1). Allepe port is situated on the coast of
(A) Tamil Nadu
(B) Kerala
(C) Karnataka
(D) Andhra Pradesh

From which one of the following
Harappan Sites evidence of
Pit-dwellings have been founded ?

(A) Rakhigarhi

1(11).

(B) Banawali

Whlh one of the following is not the
stage of economic growth of Rostow ?

’ T,

(A) The stage of traditional society
(B) The stage of take-off

(C) The stage of high investment
(D) The drive to maturity

1(IV). Who said, “Political Science begins
and ends with the State” ?

(A) Acton
(B) Gilchrist
(C) Garner

(D) Dimock
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jish

R~ o _
2. il fervaferener A T e
fore TSR I SRR T

(A) TR
%WW
(C) wh=Te
(D) edag

3 ﬁﬁﬁaﬁamﬁmwﬁ%m
(A) TNFE  (B) TR
o) & (D) "M &

AT ot =1 Tee wai 2 7
(A) R
(B) feeet
(C) I
(D) ey fasrt

@ e Wi o e R R 7
(A) FEH  (B) ufertree 3
(C) T ® (D) *Farn

6. %ﬁmwaﬁﬁ'%mqrﬁ—lﬁ%gw
Wﬁﬁamﬁmmw%{% (|2)
freme 7 _
i) T (B) #Freftam
(C) <Ature (D) arTEA
ST fore <rer aare a1 g o 7
(A) TSITrsT (B) Tei=g

(C) Tsnftrrs .(.Bf’m:aa

8. ﬁt{%ﬁgﬂﬁ%ﬂq-maﬁmﬁmm
%ﬁﬁ%éﬂmaﬁﬁﬁﬁamm?

-
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4.

6.

Nalanda University was founded by
which of the following ruler ?
(A) Samudragupta

(B) Kumaragupta |

(C) Skandagupta

(D) Harshavardhana

In Delhi Sulthanate members of
Chahalgani belonged to

(A) Tajik (B) Afgan
(C) Turk (D) Mongol

Palace of Turkish Sultana is situated at
(A) Lahore

(B). Delhi
(C) Agra
(D) Fatehpur Sikri

5, élasha temple.is located in the
a le B) Elephanta
(C

(
) Ellora (D) Ajanta

A set of twelve bath pavements with
accompanying drains has been found
from which Harappan site ?

(A) Harappa (B) Kalibangan

(C) Lothal (D) Banawali

Which Chola Emperor had the name
Arumolivarman ?

(A) Rajraja (B) Rajendra
(C) Rajadhiraja (D) Parantaka

Who of the following Officer controlled
the collection of districts in his
province ?

(A) Samaharta (B) Sannidhata

(C) Sthanika (D) Councillors

TG-05/B



AE & anvn W Freafafta s &
wel A Q- e e o ?
(A) fire vid g T wwew

(B) ®frRy ww

AC) g iy et THyEET we
(D) efT-F=aTTg TN

A AT e o forw o & o
AEar?

(A) MIEET®  (B) WIARIR &

(C) WaIe & (D) TR ¥
Frafaitaa # form wam @ ‘af| ofed’
TR g ?

(A) =i

(B) Fd-re

(C) 9rEe]

(DY SEsTShT

12. T=fafaa e wmos & a9 @ woar-
I9H9 e IR 7
(A) 3T (B) STEMR
(C) WMesRl (D) 3T

13. Torg e g wid fafas et § sereht
1 e F Tie & WY 9Rd H FE]
giAfead gan ?

W) 3freas e uae, 1861
(B) 3fveaw wfae uae, 1893
(C) wra-fir=ey fowmd, 1909

(D) TiiaHe AT 3fuear wae, 1919

14. Emred (U Tsigd ) Hifean @ forereh sem
o s T o ?
(M) TormEm
(B) @saury
1) fargam

10.

B

(D) = o
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9. According to evidence of writing

10.

11.

12.

13.

14.

one of the following Ashokan Pillar
was the earliest ?
(A) Rampurva Pillar with Lion Capntu
(B) Rummindei Pillar

(C) Rampurva Pillar with Bull Capital
(D) Lauriya-Nandangarh Pillar

:a'mm“m 0. NQ -

Buland Darwaza was built to
commemorate Akbar's conquest of

(A) Malwa (B) Ranthambhor
(C) Mewar (D) Guijarat

From which of the following place
‘Agni Mandir’ (Fire temple) has been
found ?

(A) Kapisha

(B) Surkh-Kotala

(C) Charasadda

(D) Shahabajagarhi

From which of the following ruler Jharokha-
daishan was discontinued ?

(A) Akbar (B) Jahangir

(C) Shahjahan (D) Aurangzeb

Which Act provided for holding Indian
Civil Services Recruitment Examination
in India along with England ?

(A) Indian Council Act, 1861

(B) Indian Council Act, 1893

(C) Morley-Minto Reform, 1909
(D) Government of India Act, 1919

Deimachus, an ambassador was sent
from the Syrian Court to

(A) Bimbasara

(B) Ajatashatru

(C) Bindusara

(D) Chandragupta Maurya

o>



18.

19.

20.

21

e

(B) e 1 Wi atfimers:
AC) T R vt 7 oyt axfiperdy
(D) =4 =1 3tfiremrd

LRSIk “TRE ATAT 1 BT 32w of 7

(A) ¥TRE T ST ST

«B) T& ¥ Haiftrd Torel w5
(C) IR =l H&HTd =l ST
(D) &9 T T

I 1 i 'Y F fohm #re
2 TERY

3q1 7
(A) 3IINF & By g

(C) ¥IqaTed & (D) = %
a@mﬁwﬁﬁﬁmaﬁ%mﬁ%
TS SIRITE TG T o I
! ATA T et s g2 ?

(A 1848 AD. (B) 1849 AD.
(C) 1855 A.D. (D) 1856 A.D.

Rgﬁuggmnﬁgmﬁmu@m
R =
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15.

16.

17

18.

19,

20.

21.

17219

Where was founded ‘
Rakshini Sabh

Dhars

a'in1883AD. 7 © &
(A) Mathura (B) Varanasi i~
(C) Patna (D) Calcutta Q

From where ambassador haq Came
during Aurangzeb reign?

(A) Constantinople

(B) Persia

(C) Macca

(D) Turkey

In Mauryan period the Samanharta
stands for

(A) Commander in Chief

(B) The Chief Custodian of
Storehouses

(C) Officer Incharge of Assessment
and Collection

(D) Officer of Forest

What was the purpose of the Indian

visit of Hiuen Tsang ?

(A) To know the geography of India
(BY To visit the places connected to
__Buddha

(C) To know the cultures of India
(D) To amass wealth

The great stupa at Amaravati was
originally established in the period of
(A) Ashokan (B) Sunga
(C) Satavahan (D) Gupta

In which year Lord Dalhousie
announced that the successor of
Mughal Emperor Bahadur Shah
would have to vacate the Red Fort ?
(A) 1848 A.D. (B) 1849 A.D.

(C) 1855 A.D. (D) 1856 A.D.

Which of the metal was used in mgking
of Purana or Dharana type of coins ?
(A) Copper (B) Bronze

(C) Silver (D) Gold




TS

T ¥ fova 2 vel aftre st
1 IR vy e o rfvrera § gon & 7
(A) N w&

(B) FW HIA

@) 1w W

(D) YT A

Ffea a1 s Uy g g
eqel 1 3gE FaT1 @ ¢
(A) =g
B) FTEH
(C) waTsH
(D) 3™
24, TEHA HIA, GY T FHl EF
F o1 ?
(A) E=EA et
(B i e
(C) T
(D) geaita faedia

25, AT @ fehdent YA M &, ¢
(A) FTSEr faesil ad

(B) firamge e
Gy gewe-fad gres
)RR ERUUSETD

@ fora it YTTEe 3 HEHIvST ST AL
IuTferl Rl erwor feRa 7

AT Tasrre

(B) 3TTfecd yoH

(C) I SUH

(D) Fegn FoH

o7, wedymer # fadiarene fres foe wam
fopan T o 7
LAY TR 1 3T
(B) AT 1 e
(C) @i &1 3eAg
(D) FfY 1 I
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22.

23.

24.

Sachivas and Mantris two terms |
for Ministers were mentioned in the ;,,:
inscriptions of the period of |
(A) Maurya period :
(B) Kushan period (
(C) Gupta period :
(D) Sunga period

Arthashastra of Kautilya has mentioned
how many Adhyakshas appointed by
State ?

(A) Twenty five

(B) Twenty two

(C) Twenty seven

(D) Twenty nine

Who was the author of the book
‘Setubandha’ a Sanskrit Kavya 4

(A) Rudrasena Il

(B) Pravarasena Il

(C) Narendrasena
(D). Prithvisenal

o5 mJauna Khan was the first name of

26.

el

(A¥SAlauddin Khilji

qii hiyas-ud-din Tughluq
(C) Muhammad-bin Tughlug
(D) Firuz Shah Tughlugq

Which Chola Ruler held the titles of
Maduraikonda and Madhurantaka ?
(A) Vijayalaya

(B) Aditya |

(C) Parantaka |

(D) Kulottunga |

In Arthashastra Vivitadhyaksha was
used for

(A) Superintendent of Pasture lands
(B) Superintendent of Commerce
(C) Superintendent of Mines

(D) Superintendent of Agriculture

A



09, Pyferiaa § @ -8 WIESR Wi word
el wfer o ?
DEARECIRIES

31.

30, TN o1 THEeh i o1 7
AT Saive
(B) THTIS
(C) eI
(D) formgadis

33, Pefifad i s = F-a R
enfifer HYoSUT (W) o s 8 el & 7
(NRESIRANRIIC]

_(B) mmeat fremea
(C) dteat e

(D) seat Rreera

19

28.

29.

30.

e

1

b}

Which Sultan used
poetry in Persian using the pen name
“Gulrukh” ?

(A) Bahlol Lodi

(B) Raziya

(C) Sikandar Lodi

(D) Balban

2021 DDA L

Which of the following is the first
Turkish Masjid in India ?

(A) Atala Devi Masijid

(B) Khirki Masjid

(C) Quwat-ul-Islam Masjid
(D) Kalan Masjid

With which mutiny was Mangal Pandey

associated ?
(A) Barrackpore éB) Meerut
(C)., Delhi D) Dinapore

In which its session, All India Muslim

ll eague had openly opposed the Civil

32.

33.

edience Movement ?

\} Lahore Session
(B) Amritsar Session
(C) Allahabad Session
(D) Lucknow Session

Who was the author of Kalingattuparani ?
(A) Jayagondan

(B) Ramanuja

(C) Karunakara Tondaiman

(D) Vishnuvardhana

Which of the following Rock Edict of
Ashoka speaks of religious synthesis ?
(A) Rock Edict I
(B) Rock Edict XI
(C) Rock Edict Xl
(D) Rock Edict Xl




36, ‘flrvaey’ s 1 s wAGAH 1A Al
(A) fama foza
(8) #m fwm

87, “arfve-v -y, s’ 4l A - A1
) den farq mWis*v'jT
) g |

(C) uwfi fm 3"4*&*;.

(D) iﬂr:{_[_ £

38. N T HAARMY AT At Ak -
(B) #iraz

(C) uzany i

(D) I[rqu';g

vfrtfes dmed)y i e b1 ocar
Fertferfera 4 a1 fopar o o2 oy 7

(A) 1802 4 (B) 18144

(C) 18044 (D) 1806 4

40. feferfed avpres s d i oz
_g' Faeftm i ot warreftapen 33 ferre fapn 7
(A) s faefa
(B) Jeté faefrr
(C) #%8 yom
D) wzA T
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35.

36.

AlCr:;R

40.

b,

(C) Ganga (D) Jhelum = :
Who was the founder of Decce
Sabha 7

(B) Dadabhai Naoroji
(C; Gopal Krishna Gokhale

(D) Bal Gangadhar Tilak

(A) Mahadeva Govind Ranade -'

The term ‘Hiranyastupa’ was mentioned

firatly in

(A) Vinaya Pitaka
(B) Digha Nikaya
(C) Divyavadana
(D) Rigveda

Who wrote “Tarikh-i-Mubarak Shahi' 7
(A) Yahya bin Ahmad Sirhindi

(C) Shams: Siray Aflt

(L)) Barani

ho8 the_abthor of Jain literature
J amala 7 |
\) Uddyolana Sur

(&%) Hanbhadra
() Maheshara Suri
(D) Gunachandra

Asialic socicty of Bombay was
cotablished in which of the following
year
(A) 1802

(B) 1814
(C) 1804 !

(D) 1806

Who of the following Vakataka Rulers,

married Prabhavatiqupta. d
Chandragupta 117 " < ughterof

(A) Pravarasena ||
(B) Prithvisena ||
(C) Rudrasena |
(D) Rudrasena ||

_‘_'nn_'hml(illih‘l_;:u‘: 1 i oy i h:]"".‘(; D I, T 4 =

- AN

|
|




2
(A) 2,
1
1

L]

1,4,3
2,3,4
a9 1.8 2,
(D) 2,1,3,4
42. f=fafaa 3 @ fored et F gae[ e
diar ?
(A) FToTi &
(B) WXt &

(C) wi &
4B) TE @

43. TR g Sfeeiiaa UfRAmTE
CAR:CESRE7:0- 001 I AN J&Wé
P T G
(B) foret =t arfererrd
(C) W & aferarrd
(D) & %1 @

44. TIRHS h GeriE AT S gewre o
e ST § wra e sifm
FATHR F 7
(A) 3Teher By SRR
C) WS’ (D) st

45. ‘i’ ay oft 7
ST 3 for B e e
(B) T W & aren

(C) =mrmE #¢
- (D) e
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 correct answer from the
below. o T
1. Simon Commission %
2. First Round Table Conference S
3. Cripps Mission

4. C. R. Formula

The Guptas learnt the use of the
trousers from which of the following ?
(A) The Kushanas

(B) The Mauryas

(C) The'Sungas

(D) The Sakas

42.

sthenes has mentioned an Officer
amoi-who was related with

Fown Officials
District Officials
Village Officials
Chief Priest

)
(B)
(C)
(D)

44, Muhammad Nadir and Muhammad

Murad from Samargand were among

the last foreign artists to come to India
in the reign of

(A) Akbar (B) Jahangir
(C) Shahjahan (D) Aurangzeb

45. What is ‘Gavishthi’ ?
(A) Search for Cows
(B) Taxes on Cows
(C) Grazing Tax
(D) Dairy




B S S L e

mi ey
A) Rechd  (B) T A

47. YIERU &

Joy serd (D) s |
1601%@@3111(3@1@%@6&@1%

48.
ﬁﬁ%mﬁﬁa-mwww?

51. v Tt o T R Tt @t fardin
foean’ o WEHITH Fd g1 o 7
(A) 19177 _B) 1827
() 18178 (D) 1859H

50, frmfofaa & fFa
mﬁmhgggmﬁ
(CYRLSUE (B) 3T
(C) SEffit (D) YmewTe

“

47.

48.

49.

‘Who announced that after the death
: ; gha|5 WOU'd ose

of Bahadur Shah Mu
the title of ‘King’ 7
(A) Lord Dalhousie
(B) Lord Canning

(C) John Lawrence
(D) Lord Ellenborough

Mughal Garden of ghahdra is in

(A) Delhi (B) Agra

(C) Lahore (D) Srinagar

s built to mark

Which monument wa
r Khandesh in

the victory of Akbar ove
1601 7

(A) Jama Masjid

(B) Ibadat Khana

(C) Buland Darwaza
(D) Bibi Khanam Ka Makbara

Which one "of the following is not
situated in Fatehpur Sikri ?

(A) Panch Mahal

N {(0) PElaceof Mariam Makani
(D) Palace of Jodha Bai

50.

51

52.

In Rigveda, Tasar is used for which of

the following ?
(A) Winch (B) Weaver
(C) Chariot (D) Bridle

‘The History of British India’ written
by James Mill was published in which -

year ?
(A) 1917 (B) 1827
(C) 1817 (D) 1859

Who among the following is given
credit to establish improvegd coigr::lge
system ?

(A) Shershah (B) Akbar

(C) Jahangir (D) Shahjahan




(D) FEwE-fed g

54. mgaaaaﬁﬂqswmfgaﬂum
o SR ¥ forg e gl ¢
(A) o 3T - IS
(B) faa T~ S I8

(C) T e i

(D) HEwE AlieH
fore e B 1 391 3 T T -
1 9T AT & 7

(A)Wwwaﬁq@@

(B)Eﬁa&'qwam@@aqﬁq@@
(C) SeEY &1 U9 a1 0 9@
P T 1 FE AT

g Tt e faferener w1 Fefafad
e 3eE e 7

(A) 3, &, ssI

(B) =. A%
AC) 1. &1

(D) =1. T
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54.

55.

57.

- refuséd

e Calipha 7
t(t:ﬂ\) Alazddin Khilji :
(B) Qutb-ud-din .Mubarak Shah
(C) Ghiyas-ud-din Tughluq
(D) Muhammad-bin Tughluq

an of Mysore was forced to

Tipu Sult .
subsidiary State after which

pecome a

war ?
(A) First Anglo-Mysore War

(B) second Anglo-Mysoreé War
(C) Third Anglo-Mysore War
(D) Fourth Anglo-Mysore War

e author of Padshahnama,
he reign of
I year ?

Who was th
an official history of t

Shahjahan in his eighth regna

(A) Motamid Khan
(B) Abdul Hamid Lahori
() Muhammad Amin Qazvini

(D "Muhammad Waris
[ = ll.” II_’: AI
W\ amfe of Ramagupta of the Gupta

Dynasty appears in which inscription ?

(A) Prayag Inscription of
Samudragupta

(B) Banskhera Inscription of
Harshavardhan

(C) Sanjan Copper Plate Inscription
of Amoghvarsh

(D) Kahaum Inscription of
Skandagupta

Who of the following had excavated the
Buddhist site of Nalanda University ?
(A) R.D. Banerjee
(B) Dr. Mackay
(C) Dr. Stein

(D) Dr. Spooner




59. ﬁa‘lwﬁaﬁa-q-gqﬁm afemrl

60. mwﬁ?%aﬁgmﬁfﬁﬂmﬁm

(D) w—w—w:@m
. % ¥ foem = S T
o1. P R L A e
TS 99H
(B) TS5 UM
(C) i 9UH
(D) T3 fgdf
62. Preferfiaa <iret el 8 (38 U A wET
ﬁ?ﬁ?(fﬁaﬁ)aﬁﬁﬁiﬁm? |

N TR TeH  (B) TISHIST S
(C) Felgn ¥ad (D) TSI
() fofefani i o el
e’ A s w9 H ST AT 7
(A) aTet TR foereh
{ TiTet T TEe
(©) w.f. TR
DIEEESISEES
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58.

59.

60.

mb1e

62.

63.

In which one of the following buildings
silver ceiling and mingled decorationof —
marble, gold and precious stones have ,3
been used ?

(A) Moti-Masjid, Agra

(B) Tomb of timad-ud-daulah, Agra
(C) Diwan-i-Khas, Delhi

(D) Jahangiri Mahal, Agra

2021409

In Delhi Sultanate, Barid-i-Mumalika
was the Officer of the

(A) Law Department

(B) Chief of Nobles

(C) Head of Intelligence and Spies

(D) Chief of Army

Alai-Darwaza built by Alauddin Khilj
was a gateway leading into the
extension of

(A). Qutb Minar

(B) Arahi-din Ka Jhopra
(C)iHauz-izKhas

(D) Quwat-ul-lslam Mosqgue

Whieh.one.of the following Chola Rulers
madesconguest in Sumatra and Malaya ?
(AYsRajaraja |

(B) Rajendra |

(C) Virarajendra I

(D) Rajendra |

Which one of the following Chola Kings
who had conquered entire Ceylon
(Singhal) ?

(A) Rajendra |
(C) Kulottunga |

(B) Rajaraja |
(D) Rajadhiraja

Who amongst the following was closely
associated with Indian Civil Liberties
Union ?

(A) Bal Gangadhar Tilak

(B) Gopal Krishna Gokhale

(C) M. G. Ranade

(D) Jawaharlal Nehru



@ - IV (Section — 1V)

arTiies YT / Civics

o e w i e 2 &
(A) st wififeh STETHEI®
(B), FraEt WINTY HCUHEH
Jef wifife aik WIS, TR
’wﬁm, ayrars i et e
3. 423 gfium wxiua st 1976 F
T Pt 3 Q 6 sl CARESIEE)
AR ?
JAY GHTSETE, gy vg yEvedl
(B) EWISETd], yafiney v vadl
(C) ewaiteh, FHISE U qufe
(D) iR, FHISHIE] U SEvSdl

4 ‘T sufsa s o & g & foe U

TR & s sthrifad el gfved qel

foan e, el A -:ﬂ-;hi{sa

gftfa ® 7
(A) FTRE 14 4B) 3w 15
(C) 3T 19 (D) HFeeda 20

@ fF Tsg F T U1 IS T 2

AT 3 JATEN S -8 -8 T W
gt foa 6 fafe § g eq @ 7
(A) faetsit
AB) ST

(C) st

(D) wWeTew Teft

ﬁ“ﬁmﬁ?mﬁ, “Hfe g9
WW ! Hd1
mmﬁmm%qsg"%m 1 EFEY o
(A) wTht

BT 3R, . AHIga

(€) st &t. . ==

(D) TR
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36

2 The Constitutio

(8]

n of India recognises

igi inorities

(A) Only religious minoriv
i iotic minorities
(B) Only linguls' minorities

(D) Religious, I
minorities

o ious and linguistic :
(C) Religious ingu?stic and ethnic '

' f the following words has
oo ac the Preamble by

been added to :
the Constitution (Forty-secon

Amendment) Act, 1976 ? _
(A) Socialist, Secular and Integrity

(B) Socialist, Secular a_nd Unity

(C) Democratic, Socialist and
Secular

(D) Democratic, Socialist and
Integrity

‘No person shall'be prosecuted and
p@hished for the same offence more

n c'"Hag been'described in
ahe following Article ?
ficle 14 (B) Article 15

(C) Article 19 (D) Article 20

Who has considered the state as an
organisation which helps the public to
achieve social interest at a large scale ?
(A) Willoughby

(B) Laski

(C) Dicey

(D) Mahatma Gandhi

Who had given the idea that, “because the
nature of the society is federal, the nature
of the authority must be feder;al“ ?

(A) Laski

(B) R. M. Maclver

(C) G.D. H. Cole

(D) Garner

)




e

- o1 RN~
7. Writs canbe issuedfortheenforcement
of Fundamental Rights by
(A) The District Courts
(B) The Supreme Court Only
(C) The President
(D) Both the Supreme Court and the

High Court

Who among the following is not a
pluralist thinker ?

(A) G.D. H. Cole

(B) John Austin

(C) E. Barker

(D) H.J. Laski

In which of the following books Karl Marx

9.
has given the theory of alienation ?
(A) Das Capital
(B) The Communist Manifesto
(C). The German Ideology
(D) The Economic and Philosophic
Manuscript of 1844
10. &l a2 1 91T Fo AT H VSR Ggh 04 BoWepof Governor to grant pardons,
foreted, fER A1 ALF £} T Tl | | [etaiapdto suspend, remit or commute
IR, AR afgu * e a e ol St \sentences in certain cases are given
a’gﬁi’ﬁ Sfifa 2 7 in which of the following Articles of the
A D Indian Constitution ?
EB; SIgeoR - :; (A) Article - 72
M:”:"l‘_@a i (B) Article — 161
ﬂaﬁia (C) Article — 162
(D) =32 — 123 (D) Article — 123
11. Frefofigs § 4 sH-a o gafea 2 7 11. Which of the following i
) S ’ b ol X g is correctly
(B) fee guwae — Al (A) Nazism - France
Jey FeaE _ = (B) Guild Socialism — Germany
D) - e (C) Fascism - ltaly
. EACRECIC T gt (D) Fabianism — Soviet-Union
@ g g W §, wife % few gFA | 12, In which year did the U. N, General
e e W T e o srorn T A Assembly adopt the resolution called
(A) 1950 @7 1951 ‘Uniting for Peace Resolution’ ?
w o D) 1677 (A) 1950 (B) 1951
& (C) 1967 (D) 1977
,@0‘ 37 1G-05/8

|
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- Fefeiie it w fem Rl
i SfeRe wfem
i, ey fRete o .
i, g Hfeme wHf
iv. WRE % §&d =iy
SRR 3 SHHT T R Hell shf BT
A) i v i '
EB v 0
v i
D) i v ' L
14, ‘Tt e’ o g o A 7
(A) 3T TH. A3
IUETEHT

(C) Aferaraeh
(D) w4, Hieie

15. Fmfafes =1 v Wfefes RANIRERD
ERIED]

i T A geery %0
i, T B ARG gy 2
i, Y T i ) e 122
iv. |IEHF FHIEHE 192 9

A= o v e % memm 3 w5 v Flt
(A) iv i If |
B i i v

i iv i i

D) i v i i

16. WAl Higum & wy-vy ik
E?{fg : U T sreae o
(A) TT=3T 256-263
JBY 31T 245255

(C) 37T=87 264-291
(D) 313=87 352-360

ferer =, BURE Ik T e

17,

38

14

130

14,

15.

. w

16.

17,

Consider the followtlng functionaries :
i. Cabinet Secretary
1: gﬁief Election Commissioner
jii. Union Cabinetmin&is&tler
iv. Chief Justice of India_
Thei??:orrect sequence in order to
precedenceis }
(A) i v I I
(B) iv i i I
(C) iv i i !
(D) iii v [ I
Who is the author of the book titled
‘The Modern State’ ?
(A) R. M. Maclver
(B) Oppenheimer
(C) Machiavelli
(D) M. P. Follet
Identify the correct chronological
sequence of the following :
I. Round Table Conference
ii. Quit India Movement
li. Formation of Indian National
Congress
iv. Simon Commission

Cigihe correct answer from the

dessgiven below::
(A) iv i il i
(B) iii i iv i
(C) i iv i i
(D) i v i lii

In which of the following Articles of the
Indian Constitution Union — State(s)

administrative relations have been
described ?

(A) Articles 256-263
(B) Articles 245-255
(C) Articles 264-291 -'
(D) Articles 352-360 |

Who said, “State Ccame into being for

the sake of life and it continues f
sake of good life” ? o

(A) Bodin (B) Laski
(C) Gandhi (D) Aristotle



frefefaa § @ 19 wId & gfau™ &1
e & ?

(A) ¥TT T T

(B) WITd &1 THTHA

RIEZ IR ICEIRD)

qEITAd

(C)
(DY ¥T@ F
frafafaa 9 9@ fFrad garfusn F fou
qrar &1 guds faan ?
(A) . =uH
(B) 3. vd. fae
Joy &, T A
(D) 3. st
22. Torem formn & fof, “uer e g i sman
T HAQE GH 81 el 37e] 2 7
(A) 59 (B) &4l
C)Ta oy i

23. ﬁw%i“@aﬁé%amﬁmm%
Tsg Afwd Fgeg wa 8 7

21.

(A) =i B s
© e g =

24. Trefafea & § forg femme & AN
STepfcreh SFereen § Ty sf a1 ok foreeh
% SIS WIS & Gettera o1 7
(A) ¥ (B) ®Few
©) @fF oy Frem

39
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The rendering of the legal doctrine
sovereignty is attributed to

(A) Bentham (B) Locke

(C) Bodin (D) Austin

Who had opined that ‘Man can be

forced to be free’ ? -
(A) Aristotle (B) Mill
(C) Gandhi (D) Rousseau

Who/which of the following is the
custodian of the Constitution of India ?
(A) The President of India

(B) The Prime Minister of India

(C) The Lok Sabha Secretariat

(D) The Supreme Court of India

19.

20.

Who among the following favoured
qualification_as the basis for right to
vote ¥
J.

21,

Bentham

(A)

Who has written that, “it is better to
be a Socrates dissatisfied than a pig
satisfied” ?
(A) Bentham
(C) Hegel

22,

(B) Rousseau
(D) Mill

Who among the following thinkers had said
that ‘State is an individual writ large’ ?

(A) Plato (B) Aristotle
(C) Hobbes (D) Rousseau

23.

24.  According to which one of the following
thinkers the men in the state of nature
were guided by emotions instead of
reason or arguments ?

(A) Rousseau (B) Hobbes

(C) Locke (D) Bentham
TG-05/B



25. e s 3 fove orgeda i e Al
i, o T, T e R Qe faRred <
il iR QR e} 1 GTE HC Fa, ST
frelt o & faum wew g, fafy €,
:m'ﬁaﬁmwf"?)
A) ATEIR 243(F
JB; TR 243(T)
(C) <7 243(™)
(D) 3TFTBT 243(H)
26. TN faeprg uftyg & e # Fferiad
¥ - wfdfaa g 7
A7 T
ii. ford 3T =1 Sree
iii. s hfee o Wt
_v. TSA1 & qeams
et feu e 1 T ERd BT FEl 3T A
Wiﬁﬁt{:
(A) i, ii 3 i By, il 3T iv
(C) iidiv - (D) 2 &

27. frafafaa & & ag g F@d @
QST TTIERT S TS5 & St (o2

g1 AgFifed Usd sl gared vifad 2" 7
(A) 3. el

JB)/t{a.Tnéat

(C) Treg Tt

(D) swTgea e @iHl

28. W Hiag™ % fohg srg=ee o =wiid
whmr amfes €9 @ e @l Jfd
JTEr € 7
(A) 3= 73 (B) IT=wq 74
MOy SR 75 (D) T 76

29. forem wen foh, ‘it @re ewita % feam
i 39 ot ? -
AT ST TTET
(B) a1 A1g ARISf
(C) ST ErSId T
(D) w&TeHT TITeht

rG-05/B

)

40

16

25.

26.

28.

29.

In which Article of the Indian
Constitution, it is described, “A Gram
Sabha may exercise such powers
and perform such functions at the
village level as the Legislature ofa
State may, by law, provide ?

(A) Article 243(a)

(B) Article 243(b)

(C) Article 243(c)

(D) Article 243(d)

Who among the following constitute
the National Development Council ?
i. The Prime Minister
i. The Chairman of Finance

Commission _
i Ministers of the Union Cabinet

iv. Chief Ministers of the States
Select the correct answer using the
codes givenbelow - ’

(A)-i, il and.iii.(B) i, iii and iv
(C) iiand iv (D) All of these

Who among the following made the
statement:Sovereignty is the supreme

‘power of the State, over citizens and

subjects unrestrained by law” ?
(A) J. Bodin

(B) H. Gardner

(C) Harold Laski

(D) Ayatollah Rohallah Khomeini

Under which Article of the Indian
Constitution the Ministers are collectively
responsible to Lok Sabha ?

(A) Article 73 (B) Article 74

(C) Article 75 (D) Article 76

Who said that, “Congress was the brain
child of Lord Dufferin” ?

(A) Bal Gangadhar Tilak

(B) Dada Bhai Naoroji

(C) Lala Lajpat Roy

(D) Mahatma Gandhi




» m&wmtm'm
A’ 3 T w0 e e e
s fawa wn ?

(A) 35 af wfram weea it
(B) 42 af wfyur wweA rfufrEm
(C) 44 af wfirer wvitu stfurfram
Py 52 & wfeur weitem siftrfam

WA & wfaam it frafafad 4 @ feg
I d deca -y @ grafa
Yy gffed ® ?

(A) TEE g

(B) wrereft v

SRy THll g

(D) st srgg=h

Tt — | gt 1w g S
a1 A T o e o @ 5 3w =
#ifu .

= -1 gt -
a. B i =TiRyeR
b. Affem ii. gETSTRITEY
c. TR i, favnas
d. TR iv. aEvTE
%

a

A i i
BT v i i
(C) iv i
O) v i i i

33. VI FB T F fiwt, Ty F e
TR, 3R T % e 5w e | 9 ey
3 e R o
(A) Heamami ey
AB) TaifErar ey

(C) wSTafHe T

(D) = syawey

31.

32.

17
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30.

31.

32.

| ulliste |

33.

Constitutional Amendment
i‘étv:;ki:e Indian Constitution, the
word ‘Internal disturbance’ has been
substituted by ‘armed rebellion’ in the
Article 352 ?

(A) 35™ Constitutional Amendment Act

(B) 42" Constitutional Amendment Act
(C) 44t Constitutional Amendment Act
(D) 524 Constitutional Amendment Act

Which one of the following Schedules
of the Constitution of India contains
provisions regarding anti-defection ?
(A) Second Schedule

(B) Fifth Schedule

(C) Tenth Schedule

(D) Eighth Schedule

Match List - I'with List — || and select

the correct answer using the codes
given below :

List=1l
| | |2 Hegel i. Juridical
G A STn ii. Sociological
c. Maclver iii. Descriptive
d. Garner iv. Metaphysical
Code :
a b c d
(A) i ii il iv
(B) iv i il ii
©C) v i ii i
(D) v i ii ii

“All within the State, none outside the

State, none against the State”. This
statement points to a

(A) Welfare State

(B) Totalitarian State

(C) Democratic State
(D) Class structure

Ui M



?, AR T
iii. =1, 9 o6
viferd, T o1
IR &
d. WR-R-G iv. ufF s F 7l
Y e 2
TE IT A = Fifsu
a b
(A i i
B) i i
ey i
(D) i

c. .= Mq

c
il
iv
iv ii
iv

d
\Y
il
ii
iii i

TNFETE 6 F1 gI99H w4
foran 7
(A) B I

35.

36.

(B) @TEh
(D) #

37. fow o P st srfufie § f
* FRI W ST & Rerere
1 T it g 7
mewmwmﬁw
1919 %1 WG w118 2Afofam
(C) 1935 &1 Ra e iy
(D) 1947 1 TR Tasrar tfirfey

(C) ¥feu

18

42

e

D i’

34, Match the scholars and views they
expressed ;

a. Thrasymachus i. Justice is the
interest of
stronger
Superior force
makes a band
of robbers but
not of a State
Will, not force,
is the basis of
the State
Power comes

out of the barrel

b. Bodin ii.

c. T.H. Green iil.

d. Mao-Tse-Tung iv.

of the gun
Select the correct answer :
a b - d
(A) " i fli iv
(B) i | iV iii
v I

i
il |

(C) i

iv

(
(B) Herbert A. Simon
(C) Henry Fayol

(D) Vincent de Gournay

36. Who said, “Liberty is the opposite of
over-government” ?
(A) Locke (B) Laski
(C) Hobbes (D) Seeley

Which of the following GO Act,
establishes dyarchy at provincial level
in India ?

(A) Government of India Act, 1909
(B) Government of India Act, 1919
(C) Government of India Act, 1935
(D) Indian Independence Act, 1947

37.

A 3



39.

40.

41.

42,

43.

TS ) T 38 aTd § B @ foh 3
o sftmER A A= I T 2, . . T
IR 1 579 Te ZaT, afedh I AT
T T 2 | T8 FA TR B 7

NA) TETeH e

(B) &S SET TAT=hI
(C) §H U3cH
(D)

wifaa & gy § frgn S arelt TsHIfae
Fd erifa 8 | 9. giamr & 2

(A) BT _4BY T A

(C) dEae 4 - (D) @R A
I &1 GEg AEUNYE & FHE T 3TF
ey § fEEoy weanfug = 2

i. T TS

ii. I e
i, e T ST
= fw Tu e =1 wAm FAd gU R I
1 TIH FIT

(A) Fae | (B) ii # iii

(C) i L jii i, i ST ii

= syt § | forg o 3arm A @
qeg |t oft - g Frar ¢
(A) SFETETE
(B) IW-HIBRATE
(C) wwyvT fagr=
Py Fota-famin frgr=

I IS Y 8 @i
gﬁﬁmﬁr@%iwﬁ?ﬁ%ﬁ
(A) EHF  (B) waTeHT ief @

¥ (D) 9= F

)
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38.

39.

40.

[ confrol over the functions of the

42.

43.

The word Lokpal was coined in 1963
by whom ? .

(A) Chaudhary Qharan Singh

(B) Morarji Desal

(C) Jyoti Basu

(D) L. M. Singhvi

Every State is known by the rightg it
maintain . . . the state does not give
rise to rights, rather than recognises
them. This statement belongs to

(A) Mahatma Gandhi _

(B) Harold Joseph Laski

(C) John Rawls

(D) Robert Nozick

‘Political work done in the context gf
power is politics’. This definition is

given by
(A) Sabine (B) Garner
(C) Lasswell . (D) Barker

The Parliament of India exercises

CouncioiMinisters through
N i BA@BUrnment motion

| SRQuEst on Aeur

iil. Supplementary questions
Select the correct answer using the
code given below :
(A) Only i (B) ii and iii
(C) iand iii (D) i, iiand iii

Which one of the following approaches
had two main demands — Relevance
and Action ?

(A) Behaviouralism

(B) Post-behaviouralism

(C) Communication theory

(D) Decision-making theory

The nature has placed mankind in
subjection to two masters, pleasure
and misery. This idea was given by
(A) Aristotle (B) Mahatma Gandhi
(C) Bentham (D) Marx

TG-05/B
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km“ﬁﬁﬁaﬁl
i. wurs fafee dar 1€ &1 9
aTegE e B |
R R T e W A /AT B/ 7
(A) Fad | (B) Haed i |
Joyiaiidmt (D) AdiAR i
45. AT EHEiAT W gEdneei s 9 7
(A) et - =
JBﬁ’f*ﬁ-aﬁw
(C) T=EH - A8®
(D) &= - Jew

46. "STRA 1 GEIA, Tl 37 Sr@ved F
Tita 3R Wara e’ -g8 raem 2

afar it yeraaT &
B T ¥ AP R
(C) H Hfemmi
(D) HA Al |
47. ﬂmﬁﬁum%?g%sgﬁ :
U sy gfwe i ﬁ;ﬂ
ek g ot 2 7
(A) Trgafa grT
ABYEHS g1
(C) Tt fererrar wftw gr
(D) fife 3T gmy

48. famifea # & -t of
T § 7 T

i. T 31t e
i 972 317 T
ii. TS, Tieft wug Ry

! iv. Eﬁgflmﬁqm

' (A) i AR iii (B) i, ii 3 iy

L derisiv (D) i i i sty

m

45.

46.

47.

48.
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~ 44. Consider the following - : 1
i. The executive power of the Union

of India is vested in the Prime

Minister. S O
ii. The Prime Minister is the Ex-Of!
; &airman of the Civil Services

Board. |
Which of the statements given above

is/are correct ? )
(A) Onlyi (B) Onlyii
(C) Both i and ii(D) Neither i norii

Who were the signatories to the Poona
Pact ?

(A) Gandhi — Jinnah

(B) Gandhi — Ambedkar

(C) Ambedkar — Nehru

(D) Jinnah — Nehru

“To uphold and protect the Sovereignty,

Unity and Integrity of India” is a

provision made-in.the

(A) Preamble of the Constitution

(B) Directive Principles of State
Policy

(C) Fundamental Rights

(B) Fundamental Duties

According to Article 263 of the Indian
Constitution, an Inter-State Council

may be established by whom of the
following ?

(A) The President
(B) The Parliament

(C) The National Development Council
(D) The NITI Ayog

Which of the following are
Dr. Ambedkar’s works ?
i. Annihilation of Caste
ii. Thought on Pakistan
iii. Ranade, Gandhi and Jinnah
iv. The Buddha and his Dhamma
(A) iand iii (B) i, ii and iv
(C) iand iv (D) i, ii, iii and iv




49, 7® frwdw wuw R fE,

EGERIED
e Y T 8, S o @ g
mﬁmiﬂ?ﬁ%’?
e & i
(C) firege (D) SEH

50. TSI ¥ AW a7 &
(A) SHEET, AT, TS, TR
(B) Trgafdl, @rysdl, TSl &,
T

(O el e, SHEET, AT,
el
(D) NI, SHEEAT, BTHN, TEHAT

51. Trafafag § 8@ &i9 isad &1 0
frgraer A& ® 7

AT T € Tehfe

(B) 3. 9. &4l

(C) &. wa. fi=

(D) §. sscq . Htexl .

FAG R 7
(A) gofar (B) @rEifHera
(C) Fal  4P) fadrsa
53. ST FsTe e Fdi 2, d1 78 1
e YR T 1 B | R A T
(A) SETETATE e H
(B) . 3R, EEH I
ey reTeAT Tl <
(D) GHTY T3 S I

54. =9 @ frd 1951 #, Je& Afmea @
feg e foat =t o e fean 7
) S T TS

(B) fi. 3. =g

(C) dt. TS

(D) 3. . vgHEd =9
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49. Who has given the statement that,
‘Bicameral legislature is such a
parliament, which is divided against
its ownself’ ?

(A) Barker (B) Garner
(C) Gilchrist (D) Bryce
50. The essential attributes of the State
are
(A) Population, Territory, Sea,
Government

(B) President, Sovereignty, Political
Parties, Territory

(C) Economic Resources, Population,
Government, Sovereignty

(D) Territory, Population, Government,
Sovereignty

51. Who among the following is not a
theorist.of democracy ?
(A) Alexis de Tocqueville
(B) J. J. Rousseau
(C) J. S. Mill

- gm E\W. Nietzsche

52. freferiad § & FH-1 T e w52 "\Whidf™ne (©F the following is not a

" characteristic of sovereignty ?
(A) Absoluteness (B) Universality
(C) Inalienability (D) Divisibility

53. If the congress wishes to accept
partition, it will be over my dead body.
This statement belongs to
(A) Jawaharlal Nehru
(B) B. R. Ambedkar
(C) Mahatma Gandhi
(D) Subhash Chandra Bose

54. Who among the following, resigned
for the Hindu Code Bill from Nehru
Cabinet in 1951 ?

(A) B. S. Munje

(B) B. R. Ambedkar

(C) C. Rajagopalachari

(D) R. K. Shanmukham Chetty

TG-05/B
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e T 1 T BT A1 7

W9 349 (B) 350

(C) 351 (D) 350-A

56. forma e, g $i e F R
A=A i s € = 8 e ?
(A) T3 Freht
(B) @t
Jef ité wre
(D) sft. €. w=. Fr=

Y Ty 7w Fifed w2 W oo 3
aﬁam&sﬁaﬁé‘zmﬁmwﬁ,
I8 |91 51 &1 , At fagrat qan
A il Y& g | g whr @ 2

(A) T

4By T
(C) TR

(D) FrerwEe

58. fhu® srpam, smwEme twaw § an
QT ¥ - T2, e, wda o
au sk wfery 7
(A) ST ATSIYE g
(B) =1 e faers
SOy 3nfam vy
(D) faftm 5= wre

57.
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56.

87.

58.

59.

o P TS

lich Article of the Constitution
mmummmmd
every State to provide adequate facility
for instruction in the mother tongue at
the primary stage of education ?
(A) 349 (B) 350
(C) 351 (D) 350-A

Who said, “The passion for equality
made vain the hope for liberty” ?

(A) H. Laski

(B) Locke

(C) Lord Acton

(D) G.D. H. Cole

Legal sovereign is the certain authority
which can legitimately express the
highest orders of the State, who can
disregard divine law, moral principle
and_public opinion.. This definition is
given by

According to whom. “the four major

elements of aggressive nationalism
were - swadeshi, bycott, national
education and passive resistance ?

(A) Lala Lajpat Roy

(B) Bal Gangadhar Tilak
(C) Aurobindo Ghosh
(D) Vipin Chandra Pal

A British citizen sta

not claim Right to

(A) Freedom of trade and profession

(B) Equality before the law

(C) Protection of life ang Personal liberty |

(D) Freedom of religion |
A j

ying in India can



i‘ma £ dfa ffy @ ga-Femt w5 60. The authorisation forthe wrlht:lrawﬂé =%
L T ST B 2 funds from the Consolidated Fund of '
T (A A F a India must come from
(A) o @ﬁg (A) The President of India
N _ (B) The Parliament of India
(C) ¥ 3 ST @ (C) The Prime Minister of India
¥ ﬂﬁ—qﬁaqa&ﬁ (D) The Union Finance Minister
. 61, 7% frue foran & foh, “gfed il mf?ﬁ»" 61. Who has written that “The Leviathan of
zem o &, Tgsd et oft e B weRar 7 the state of the nature of Hobbes can
(A) e never be a man” ?
(B) =i wif (A) Spinoza
(©) ar (B) Bernard Shaw
(C) Barker
Py (D) Garner
2. Fafaf@ad g =m-dg . i
g 9 ¥ F-di voe i g 7 62. Which one of the following is the largest
afif @ ¢ Committee of the Parliament ?
(A) e oraT |t (A). The Committee on Public
_ Accounts
(BY TRt wiufd ~ (B) The Committee on Estimates
(C) ek 3UshH U . ____‘_(__Qj.:T__IhehCommiﬁee on Public
() i it = 0 A P
| G| 4R)| The'Committee on Petitions
63. F= - |l gl - || | gHford Fifse qun -
1 gHIcIa Sl 2 63. Match List — | with List — '
e few o %< T WA Fd 2O oH 39T answer using me Colgtes lgl;l‘ag(rjl tg)gﬁ)we
1 T T ; List —1 List -1l '
Tt - | - l. E’flm Chandra a. Gita Rahasya
| TR g uer  a. fidr @ y
. 3 II. B.R. A ind Swaraj
II. st IR, =g b, fo= w=st 2 . M. K Gn;:ggkar kil
iF, 1. o o R S i c¢. The Soul of
. &, et c. g AE3oEm i
o T M. B G India
LSt e d o1TH i1 - 8. G. Tilak d. Thoughts
o é@ gn Linguistic
tates
. a v Codes :
d b A A) | ::II 1} v
c
d a b ®c d a b
o b b .
a C) d
c d D) a b c d E
47 O
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et/ Geography '

2. EAREIW 1° 0w i g g
(A) 111.32 f 1t
(B) 112.57 fe 1.
(C) 110.94 o 1t
(D) 111.78 f .

3, ﬁu%f&aﬁﬂﬁq—mgmaaﬁ%?
(A) TSI - 377
(B) IEtaT-1iiig
(C) Torra - fyemm
(D) foRR - =it

4. wha wifa 3 st 2
(A) & @18 &1 e
(B) 31fersh et 37
(C) 3= 3aTe Su=dt vy
(D) &t Feafy

5. WUF (A) : I FTAVE 3feiifir wRvr vy
1 TF TG g9 R |

&N (R) : 3ffenfirs s=amre qor
qﬂaaqgﬁ)gﬁma‘aﬁamﬁﬁmﬁm%:

ﬁqﬁﬁmmmwaﬁﬁq:
A) (A) T (R) T @@t & @om (R) (A
()gﬁ)w()m% (R) (A)
(B) (A) Wd (R) 2t wet 3 R) (A
{ﬁ)m() LB T (R) (A)

(©) (A) ¥ 2 wg (R) et 2
(D) (A) Trera & weg (R) et
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2. Distance of 1° longitude at equator is
(A) 111.32 km. '
(B) 112.57 km.
(C) 110.94 km.
(D) 111.78 km.

3. Which one of the following pairs is not

correctly matched ?
(A) Rajasthan — Anta
(B) Odisha — Gauripur
(C) Gujarat ~ Sikka
(D) Bihar — Barauni

GEeen revolution means
of green manure
more crops

(C) High yield variety programme
(D) Green vegitation

5. Assertion (A) : New England industrial

region is one of the important region of
the world.

Reason (R) : Industrial raw materials
and transport facilities are well
developed in this region.

Select the correct answer from the
following codes -
(A) Both (A) and (R) are true and (R)is

the correct explanation of (A)
(B) Both (A) and (R) are true but (R)

is not correct explanation of (A) '«4
(C) (A)is true but (R) is false
(D) (A)is false but (R) is true



| 3 e e W
A) ¥R, RIAR T i
® NI, < T
(C) TR, FITHR & M
(D) ¥, = T s
7. wEt g g s §
(A) STel1g T@l qum ardt qel W
(B) 37T UF wAIgH W
(C) o=t Aem dorn fom i
(D) frafssa a2 qen ferm ot o
8. UTSH 3=l Brm B
(A) 3Husm
(B) T @
(C) ¥ &
(D) I |
9. Hmﬁwmﬁmﬁﬁtg@gé%l
W -0 Y [F o G §
1. WETEg el = iR wea

T TP B T |
2. zferft HeretE HER A [
HHEUAT Ara-4ft 921 @y |

3. JUmiohed el 31wy |
4. UTRIE T % YER F ygm |
(A) 1,215 3

(B) 1,31d 4

(C) 2,3w 4

(D) 1,2,3td 4

10.

'WWWQBH : :
2 rwmﬁﬁuﬁm%ﬁ?ﬁwqﬁ
(A) 3. Toeg,
(B) .37, @
(C) Imew €t & somy
(D) $ft. 3um

i in the
Doklam plateau is situated in t
trijunction of .
(A) India, Myanmar and (:‘,hlnna
(B) India, China and Pakista e
(C) Bangladesh, Myanmar an
(D) India, China and Bhutan

Placer deposits are found in
(A) Alluvial fans and Valley floors
(B) Delta and Loess o
C) Till Plain and Crevass '
EDg Submerged Coast and Solution
Valley

Graben is the product of
(A) Weathering

(B) Folds

(C) Faults

(D) Erosion

“Conlinental Drift Theory is affir_med'.
Which statement/statements is/are

ru
oa\er estimates oftopographic
ntinent coasts.
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10.

e
2. New investigations regarding
geological similarities between

the southern continents.

Paleomagnetic studies.

. Evidences of sea-fl
1,2and 3

) 1,3and 4

) 2,3and 4

) 1,2,3and 4

w

OOr spreading.

CIRICEES

(
(
(
(

‘Nature is nNever more than adviser'.
Who said this statement 2

(A) E.W. Zimmerman
(B) C.0. Sauer

(C) Vidal de Ia Blache
(D) G. Tathom



ﬁﬁfﬁ%ﬁim—m
i a1 anffercor g & 7

(A) TG, AR G, oW
(B) TSI, TETSH, T

(C) wvad, g, srwadHy
(D) TSANSHI, FFTe, v

12. f=fafaa wuai & qhevr Hifso qun

= R W Fre 1 TE = TE I
1 T ST |

1. %ﬁﬁ@mﬁm% LERG R
WIS ShLdl & el IO 331 |

2. fafror sfaem & snu smfmm
I | Il I BT 2 |

e
(A) Faa 1 6dl 2
B) Thadl 2 H&l ®
C) 1 3R 2 SHj/&El &
(D) Ad 1 A28 2

13. ST s | Y o T
(A) 91 i(B) “ishd
(C) &g | (D) =His

14. ﬁ?%ﬁwmﬂﬂﬂn :q-pl?“ TRl
%0 H TEl B

(A) ord, =, sTsite, sreray

(B) =, wrd, S, gﬂmfsrfu

(C) %ﬁq I, qﬁmm, EUEARIMD
(D) <, ¥, sU@:lﬁmT T T T

15. “Rra wgsn’ Setfer@ e wonfua 2

(A) SWwew  (B) dfierg
(C) ®tes (D) =ifzum

16. ﬂn%ﬁ%aﬁ%amﬁéa ~fafayan 4
(A)mm

@ S s

=AY

=5
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1.

12.

15.

16.

Which one of the fgilowm

classification of resources a€corc

to availability ?

(A) Ubiquities, Commonalities,
Rarities

(B) Unused, Potential, Latent

(C) Sustainable, Improvable,
Non Improvable

(D) Unused, Potential, Rarities

Examine the following statements and
select the correct answer using the
code given below.

1. Fog lifts up when the ground gets
heated as the sun comes up.
2. Fog occurs in the early morning
due to radiational cooling.
Code :
(A) Only 1 is correct
(BY Oy 27s correct

_ (G} Both «apde are correct

(D‘a Neither 1 nor 2 is correct

ttlpment ns assomated with
Yakuts
(D Masai

Group of countries in descendmg order
in production of paddy is correct

(A) India, China, Brazil, Bangladesh
(B) China, India, Japan, Indonesia
(C) China, India, Pakistan, Indonesia
(D) China, India, Indonema U.S.A.

'Shiv Samudram’ hydroelectricity
station is situated at

(A) Uttar Pradesh (B) Tamil Nadu
(C) Karnataka (D) Odisha

In which of the following regions
Bio-diversity is richer ?
(A) Tropical region
(B) Polar region

(C) Temperate region
(D) Oceanic region




ot 8 @ foe s R 7

17. “Yurt is the house of
, UIERH] 1 (A) Eskimos
- (B) fwita (B) Pygmies
(C) FIRA H (C) Bushman
(D) Rawfist # (D) Khirghiz
ot Y geq Tl W fava @t fha 18. Whitlessy has divided major agricultural
™ &l ﬁﬁ“m%‘" ?7 Tfﬁ region ogthe world in
(A) & A (B) 12461 (A) 11 regions (B) 12 regions
(C) 138 (D) 14 & H (C) 13 regions (D) 14 regions
19. frefifaa § ¥ fF9 w &1 w=@ # | 19, Which one of the following is known
AT (A1) FEd € 7 as ‘Fountain of prosperity’ ?
(A) I (A) Coal
(B) @fsi dct & (B) Mineral oil area
(C) JTHfeh | (C) Natural gas
(D) YR Sl (D) Solar energy
20. ‘frggan sitetfics mew’ fra 2w o 20.dn-which.country. Pittsburgh Industrial
27 Regien is located 7
(A) &9 (A) Bussia
(B) TIFAUST M | (B) USA
(C) U foreH ' (C) Breat Britain
(D) ufverdt a a dl’ Europe
21. YA (A) : JTEHANEIC T Bl Bzt A)=Ahmadabad is called
argam% | ' Manchester of India.

T (R) : SHEHRIETE HT H Fcll AT
H axﬁﬁém IS 2 |

e g2 @ wet 3 Rt =g i
(A) (A) @& (R) 2 @&l & a1 (R) (A)
& e JTeT &

B) (A) & (R) a1 €&l & T (R) (A)
()Sﬁ)a'sﬁsamqﬁ%

(C) (A) W& ? 9t (R) 7T @
(D) (A) T & Ut (R) WEl @

22, R Tty afeai g STl @
(A) TEaIfE & I== 9T

(D) HERTSE =hT ATl Y3

TG-05/B 8
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22.

Reason (R): Ahmadabad is commercial

producer of cotton textile in India.

Select correct answer from following

codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R)
is not correct explanation of (A)

(C) (A)is true but (R) is false

(D) (A) is false but (R) is true

Isolated rural settlements are found in
(A) The higher parts of Sahyadris
(B) Rayalseema region

(C) Baghelkhand region

(D) Lava plateau of Maharashtra

A



24,

25.

26.

27.

28.

29,

)

(8) Mmﬁrﬁ

(C) weTae et &

(D) RS yefa @

yaark g g ww e R
(A) ¥ Ed (B) Sog 9@

(C) a&H (D)

EEETE 1 e fohd el STal & ?
(A) Tfa

(B) S 53

(C) $ar s+

(D) ft. IR

YR 1 Faget g1 3eqeh T =
(A) IS

(B) Ta

(C) I T

(D) TSTEYH

arifdfer forameneTmai e fasaa &1 vel
HH-TIR ?

(A) F¥, TR, HisH HUE
(B) I GUE, iRl iy
(C) Ff¥, T TUg, TR
(D) TS TUE, Hf¥, eErfiel

“Our Wanderin

?
A) ft.ume (B) TgaR
C)T.am (D) Sft. @ &l
TR-Tewedt faguar i grgsTen |
(EESE

(B) |y

(C) ata:¥w

ESE]

ad

Continents” ATHsh

28

24.

25.

26.

28.

290.

(A) Negroid
(B) Caucasoid e
(C) Mongoloid
(D) Australoid

Dead sea is a lake formed by
(A) Riftvalley (B) Alluvial fan
(C) Folding (D) Crater

Who is the father of possibilism ?
(A) Lucian Febvre

(B) Jean Brunhes

(C) Isaiah Bowman

(D) G. Taylor

The largest milk producer state of
India is

(A) Punjab

(B) Gujarat

(C) Uttar Pradesh

(8 Rajasthan

e is correct order of evolution

mic activities ?

) Agriculture, Urbanization, Food

collection

(B) Food collection, Industrialization,
Agriculture

(C) Agriculture, Food collection,
Urbanization

(D) Food collection, Agriculture,
Industrialization

Who wrote the book entitled “Our
Wandering Continents” ?

(A) V. Gracht (B) A.Du Toit

(C) A. Wegener(D) G. H. Dury

Garo-Rajmahal gap was formed by
(A) Warping

(B) Jointing

(C) Down faulting

(D) Over thrust folding

YA NS



32.

30. Which one of the following.
of roads, rivers of canals ?
(A) Circular  (B) Cross-shaped

(C) Linear (D) Square

31. Give an example of folded mountain
in South America.
(A) Rocky mountain
(B) Andes mountain
(C) Alps mountain
(D) Appalachian Mountain

frefafad 297 ° | FH U T e 32 Which one of the following countries

IEqTEH TE © 7 is not major rubber producer ?
NELRS BIRISUE (A) Brazil (8) Thailand
C) TenfmEn (D) Wlf¥E (C) Indonesia (D) Malaysia
)
33. ﬁTﬁfﬂT &+ ﬂﬁ gra-l faEr ai | 33. Which one s nota theory of the orgin
aﬂq—m g AE 2 7 of coral reefs ?
(A) EIEA 1 e 8 | (mSubsidence Theory of Darwin
() =fa@ = 3798 =g Hg TEA TILESR of Davis
(C) W = feuy s A= - ic; iy sy TteangofMurray
(D) eft =1 femE) I g ) Glacial Contro! Theory of Daly
34. mwmm frxmfm*m-l 1 a d :nCcnlra&..athw was
(C) m?ﬂ""l (D) FFTH 2141 ) Wu nel (D) Ju.fhovs
35. fafe Tean =1 faumml Faadn | 35 Whenwas Intemational date hine fixed ?
o f |
(A) T:g)? ~(B) 1884 | (A) 1904 (B) 1884
(C) 1917 (D) 1894 | (C) 1917 (D) 1894
36. %@W a1 U, S A | 36 Hectlopascal 1s a unit 10
(A) Fl | (A) Measure the energy
B (B) Measure the air pressure
(B) AT (C) Measure the thickness of ozone
(C) 3:"3“'_'[ q{d Eﬁ ITI("T?? Iaye[
(D) r fafew (D) Measure the solar radiation
37. ‘W'WE&E{{N‘%@%% 37. The term ‘Monsoon’ is originated
~ from
(A) 3 T E (B) @ﬁm 9191 @ (A) Arabic @) Sparish
(C) e i @ (D) 3Aive T & (C) Hindi (D) English
wr_nk/B 10

29




- 40.

39.

41.

(D) Feeft 1 gl o GoRT B
frafeRaa § @ i < & e Ea Tl 2
(A) Yad =
(B) e wif<
(C) et shif=t
(D) 39 | § IS e
e e for T ST @ 7
(A) HITA (B) WA
) o (D) 3T
N S e e
(A) TS (B) &AieF
(C) dftre g 4 (D) W Ve
42. WWWW?@W‘W}W%

(A) aferoft sfiE, e, ém,a

(B) =, WHd, Sy foAdt, aleoh 3

() seferan, =M, ¥, afeqoft i
(D) R, =i, afeft SThE, sArefa

43. mmw%%vmm?

(A) W@Wﬂ?ﬁ%ﬁuwzﬁmw@ﬁ

FET

(B) waeRl w1 faal 3w
(C) TETYA o fershre T
(D) Iwfe Tl

44, ﬁaﬁﬁw-ﬁrwﬁmﬁﬁ%ﬁm

HEEq @ 7
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39.

40.

41.

42.

43.

44.

division of day and nigh

(A) Rotation of Earth on axis
(B) Revolution of Earth around the sun
(C) Earth orbit is geoid

(D) Tilting of Earth on its axis

Among the following which one is not
related to Agricultural Revolution ?
(A) White Revolution

(B) Blue Revolution

(C) Yellow Revolution

(D) None of the above

il
|
5

Who is called yellow dwarf ?
(A) Mars (B) Saturn
(C) Sun (D) Uranus

Which is the largest cotton producing
state in India ?

(A), Gujarat (B) Karnataka

(C) Tamil Nadu.(D) Uttar Pradesh

The correct descending order of
anganese production countries are

uth.Africa, Australia,

ina, India

ina, India, Australia, South Africa
(C) Au

stralia, China, India,

South Africa
(D) India, China, South Africa,
Australia

For resource conservation it is necessary

(A) Maintain balance between man
and resources

(B) Rational use of Resources

(C) Development of Resources

(D) All of the above

Conservation of Bio-diversity is

important for
(A) Animals
(B) Animals and Plants
(C) Plants

(D) Organisms




46. fewrera & form s o = ‘Far’ Bgforat
U g ?

(A) 3. Y, fearerg

(B) i femrera

(C) Tew=re-3swras femrery
(D) ¥R femrer

47.

Aeuge firg) ureft wreht 2

(A) IR ge9T o

(B) Temraret wewr &

(C) wSirar &

(D) HWEWTsZ 1

w9 % ATt A{GEE (arfee ) 5
(A) T (B) Fiv e

(C) Wit YD) Ay e

B sy form ) e fafifa 2 7

(A) Mt (B) it

(C) "eMd (D) ufFam

48.

19.

0.

T 1 Tl afefeafer) sy 3 &g 3
forem afofa o 2 7

(B) sdT9r g
(D) =13

(A) Bferre Y
(C) =

31

el S o Ll 5 ) e N TR T
&E" Ih "@g'

45, Which of the following rocks is notlik

46. In which part of Himalayas, we find

47.

50.

S1.

to contain fossils ?
(A) Conglomerate
(B) Granite

(C) Shele

(D) Sand Stone

‘Karewa' formation ? g
(A) N. E. Himalayas 5
(B) Eastern Himalayas
(C) Himachal-Uttarakhand

Himalayas
(D) Kashmir Himalayas

Laterite soil is found in
(A) Uttar Pradesh

(B) _Himachal Pradesh
(C), Punjab

(R} Maha Zs s

ad

49,

Thegrural settlements (collective farms)
s KRown a8
(B) Farm stead
Ovkhoz (D) Home stead

On which river Hirakud Dam has been
built ?

(A) Godawari

(B) Cauvery
(C) Mahanadi

(D) Peniyar
Who described geography as the
science of Human Ecology ?
(A) Mackinder (B) Blache
(C) Barrows (D) Brunhes

The book ‘Human Geo
A Welfare Approach’
(A) David Harvey
(B) Peter Haggett
(C) D.M. Smith

(D) Richarg Peet

graphy :
S written by

EYSANDY e s s



S3.

54.

55.

56.

57.

Mﬁn-rntm

AR R R e A e 3w
|
A
) (Rrgr=)
a. sit.&f. o 1. i an fygr
b. TS ENA 2. Hde fugr
c. MU Bfwm 3wt a fagr
d. & 4. 98 fug
Fe
a b [o- d

(A)4 3 1 2

B)4 2 3 1

(C) 3 4 2 1 |

D)y1 2 3 | |
Freafafad o el - 7 -
A e ? :
(A) FaTE B | =
(B) W&Hﬁ&’ri | :

(C) ST~ ﬂ‘l'a '

(D) werapER Y
Wamgqﬁ 1?1 %1 S ey d d
o g S © ¢ |

(A) dTTee (B) T |

(C) fafeen (D) HUAEH |

&% Yan frfifiaa § @ wra & faaws |55
TSY | gt A1 el @

(A) B ) fasim

(C) trﬁﬂgz ) afgendt sre

smi%!z% THR 56.

%% |

(A) BB'r (B) BA'r

(C) BB'w (D) BA'w
mmmuﬁﬁﬁ@% 57.

13
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Match List - | with the List ~
select the correct answer from
codes given below.

List - | List -1l
(Scholar) (Theory)
a. G.B. Airy 1. Stationary Wave
Theory
b. W. Whewell 2. The Equilibrium
Theory
c. R.A. Harris 3. ProgressiveWave
Theory
d. Isaac Newton 4. Canal Theory
Codes :
a b c d
(A) 4 3 1 2
(B) 4 2 3 1
(C) 3 4 2 1
Dy1 2 3 4

...Which one of the following is called
"\ ralnforestof the ocea S 7
_\ &) Gotais] |

vt Gt asasits

(&) Tides

enisofthe Qeeans
aemf’fhe'fdllowing is generally

ound In sedimentary rocks ?

(A) Basalt (B) Shale
(C) Silica (D) Magnesium

Which one of the following Indian states
is not traversed by Tropic of Cancer ?
(A) Tripura (B) Mizoram

(C) Manipur (D) West Bengal
According to Thornth Waite type
of climate is found in New Zealand.

(A) BB'r (B) BA'r
(C) BB'w (D) BA'w

The highest mountain of Southern
India is

(A) Nilgiri (B) Analmundl

(C) Dodabetta (D) Koda!kkﬂ

et

o



N R TR T TR T

{4 d yvamm 58. The hi hest and the lowest po
' R SR densltg difference during 2001 ang
2011 was recorded respectivelyin
(A) Uttar Pradesh and Sikkim '
(B) Haryana and Nagaland
(C) West Bengal and Mizoram
(D) Bihar and Arunachal Pradesh
il J e o & e 59. Which one of the following states
HeH R gig recorded the lowest decadal growth
rate of population according to 2011 .
census ? '
(A) Kerala (B) Goa
(C) Sikkim (D) Nagaland
HifaTierm aet ¥ fywg A f=fafaa 3 9 60. Which one of the following statements
~ ST T o W TR | 7 is not true about the Coriolis force ?
(A) F= Yeft o TTai= 1w @ qo g (A) It is the effect of earth's rotation
T T 9 2 and it is a fictitious force
(B) I8 Y17 &5 FWuL s1frray vy 2 (B) It Is maximum over polar regions
(C) Te Teue = & ooy & 3 —— (C) 1:) :iedirecﬂ, related to frictional
(D) & STy Tifed & a2 (D) It'is proportional to wind speed

61. =% @ FF-= gw gefem o 2 7 | amBl! Mhich one of the follewing pair is not
. T o | r matched ?
Al & o aj ‘ sts-Type Major Area
(A) IWTEHEEET G merifee |

) FFODical Rain Congo basin
-. orests
wal SN 5 : (B) Conical Forests Northern
(B) =IvTYTRT 54 I TS e it
- St ( editerranean
(C) sea v a5 il Forests California
(D) IWHfaL o (D) Tropical Deciduous
qasig ad T Forests Mongolia
62. TRTCH] el STereTiad TS 9T o foha 62. Inwhich state of India, Mahatma Gandhi
Ty feae 7 Hydropower Project is located ?
(A) A (B) aﬁraq-rg (A) Kerala (B) Tamil Nadu
(C) FAleH (D) TSI (C) Karnataka (D) Gujarat
. A’ g R R 63. Leningrand Port is situated at
iy (A) FTST (B) ®O H (A) Canada  (B) Russia
(C) Aefern # (D) SO A (C) Australia (D) Japan

mm 14

!
AL YA A =i
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(A) 19 374, 1994
(B) 26 31T&, 1994
(C) 19 37T, 1995
(D) 18 37T, 1996

Fefafen # & SR-m wimm S

Ef@aﬁwmuﬁﬁﬁaqﬁm%?
A) p=M

M
B) P=—
(B) v

MV
(C) P

M

KO

g & Tt 7 a
(A) uen feary

(B) ufsm
(C) i
(D) wrete

g “Gu-grfi’’ fanrarra 6 e
foheeh g @i 2 7

(A) Fd IuAifirar

(B) r= 3uifiran

(C) wea Fima

(D) 3mmgfd it wr

W § =Faw weight sifufiam e i
?

(A) 1948
(C) 1958

(D) P=

(B) 1956
(D) 1966

34

2. When did RBI announce full
of Rupee on current account ?
(A) 19 August, 1994
(B) 26 August, 1994
(C) 19 August, 1995 i
(D) 18 August, 1996 i

3. Which of the following equation do not

represent to Cambridge approach ?

M

M

®) P
MV
(C) P='?

TDy e

KO
it
d

IS y'Definition"ef Economics
1a1ven by
(A) Adam Smith

(B) Robbins
(C) Pigou
(D) Marshall

5. The famous “Diamond-Water” paradox
IS explained by
(A) Total utility
(B) Marginal utility
(C) Price offered
(D) Quantity supplied

When was the Minimum Wage Act "
passed in India ? '
(A) 1948
(C) 1958

(B) 1956
(D) 1966




10.

11.

12.

F Wﬂ‘#"mms}

(B) Wit =afaRr s srfrea &
(C) SEE AfteRan &
(D) Wit safeRr 3asii axfireran &

AR AT Bt ® W

A) Qfsss () Ifo®

(C) wforews (D) et
c%mmﬁwgﬁ ﬁ‘ ki
¥ 2019 1 e reRR foree fear man 7
(A) ;ﬂ;ﬂgwﬁ Fifirsfta s=sti, ATSd

(B) T 3. forscivg, T 7

(C) Twe user /St 3. &,
HT§ohel T

(D) g i, Teae dh e, ik

a@aﬁ%ﬁaﬁﬁ%qaqémﬁ%ﬁ

¥ 3T I el Sl ©

(A) T Hgei

(B) faret

(C) SATIR Fct

(D) e
mﬁﬁaaﬁ—a‘tzi@nﬁsaﬁzﬁaﬁamr%?
(A) IMF (3. 7. T%.)

(B) 1BRD (37, 1. 3. )

(C) IDA (3T%. €. T.)

(D) ADB (T2l

ooy v e foreit A o LS 7
(A) 1 315, 2004

(B) 1 313, 2005
(C) 1 313, 2008

(D) 2 3T, 2008

rr2.0N5/B
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b l.ai ?'T'F" 3 - ._’_.~ '..V 53
7, thIMUm population will be at a point

dd ndwvaluerof imports of goods i
iSc g
( .

11.

12.

(A) National income is maximum

(B) Per capita income is maximum

(C) Population is maximum

(D) Per capita consumption is
maximum

ployment is always

(B) Involuntary

(D) Seasonal

Disguised unem
(A) Voluntary
(C) Frictional

For the “Experimental Approach to

Alleviating Global poverty” Nobel Prize

2019 was awarded t0 |

(A) Esther Duflo, Abhijit Baneriji, '
Michael Kremer

Fin E. Kidland, Robbert Aumann i

(B)
ph E. Stiglitz, i

(C) Robbert Angel, Jose
VicHzae! 'Spence

(D) James Hackman, Edward C.
Prescot, Paul Krugman

rénce betweenthe value of

A) Balance of Payments |
(B) Foreign exchange !
(C) Balance of trade '
(D) Disequilibrium

Which of the following institutions i
called World Bank ?

(A) IMF

(B) IBRD

(C) IDA

(D) ADB

‘MNREGA’ plan started in all districts
(A) 1 April, 2004
(B) 1 April, 2005
(C) 1 April, 2008
(D) 2 October, 2008



= mm.. mnﬁ’rmﬁr
(D) g wft

14, RAFR F A1 Ared & sta
Tttt fohamn 3earem s 7 e
(A) ITTET T 3TET
(B) ITITEH 1 T =TS
(C) IcTEH 1 TaT HI
(D) Ic9Te 1 T foers

15. Heheshiel a1 fordt et i 2 7
(A) wfaffe o3 ga
(B) ulardefier o3 Hal
(C) raftad=sfier o= Ha1
(D) wifewe o= 41

16. GH ANTd 1@] &l S Al o
(A) e e @l
(B) =14 @1
(C) IcqTeeh o asie g Tl
(D) 39U G+l

17. 'Wmﬁa&aqtﬁa 7E A&d U

wa&uuﬂam?l

g A ©
(A) €. ﬂan:cﬁ
(B) weH fae &1
(C) HITd 1
(D) &, sft. &

18. ﬁmmmﬁrﬁnﬁ%ﬁaﬁﬁ

(A) t{ﬁﬁ?ﬁatﬂ
(B) A H A=W

HATHR T
YerdT & a1 W

14.

15,

ad

17.

18.

(A) lmnmatmm
(B) Expenditure of tax payer
(C) Property of tax payer =~
(D) All the above :

Under Cournot model of duopoly each
duopolist will produce

(A) Half of the output

(B) One fourth of the output
(C) One sixth of the output
(D) One third of the output

Which of the following is known as
Emergency Money ?

(A) Representative Paper money
(B) Convertible Paper money

(G) Incanyvertible Paper money

(D) Fiat Paper money

NeisSKNown as
r gost line
(B) Outlay line

(C) Producer's budget constraint line
(D) All the above

“Wealth is not an end itself, it is a
means to an end and the end is human
welfare.” This quote is given by

(A) D. Ricardo

(B) Adam Smith

(C) Marshall

(D) J. B. Say

Price discrimination in a discriminating
monopoly market depends on

(A) Elasticity of supply
(B) Elasticity of demand
(C) Size of the market e
(D) Class of the conwm.r




19.

(D) 3uga & @ r§ 7
20. U IUNIET Ggor § B, S 20.

21. uﬁmqa{a%ﬁ%aﬁm ST
gREadq & Gig MP, /MPy ?ﬁ]‘f‘?m?_
ﬁmwﬁmmm?

(A) &t

(B) 3@

(C) & &9 /qu=1
(D) wufeafas !

22. firt qune o 2 22
(A) 317 fawman =1
(B) it &1
(C) sT=PTIT =1
(D) & fawman =1

23. Ysftar # afmferd g 2 23,
(A) 3T T UM e
(B) wicafiran i srufeufa
(C) BT i srfifa syfirar
(D) fasft @™
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If N.R.R. (Net W
less than one, then

(A) Population will decrmo
(B) Population will increase
(C) Population will be unchanged
(D) None of the above

A consumer will be in equilibrium,
when

MU
(a) Be s Ty
P, P,

MU
By Ly o2
P, P

MU, _MU!

(C) p" _P:

(D) Norne of these

IR, IMPL Boes ot ehange with any

yportionate change n labour and

nac—n Ng O OB UBIoN function is

(B) Nor
(C) Homogene:
(D) Homothet

9]

Gini coefticient 1s a measure of
(A) Income inequality

(B) Poverty

(C) Unemployment

(D) Regional Inequality

Capitalism includes

(A) Equal distribution of income
(B) Lack of competition

(C) Unlimited role of government
(D) Private profit
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25,

27

“mmy oy
. Fistorcal stages b. RR.M'

of Economic
development

lIl. Low level c. W.W
equilibrium Flostc;w
Trap theory

IV. Big push theory d. Rosenstien

of development
Code P Rodon
| Il ] \"}
(A) a d b c
(B) a b C d
(C) b c d a
(D) a c b d

According to Ricardo what condition
is necessary to make possible

mtemaumal u'ade between two

countries 7

) Absolute cost difference
a uakeost.difference
rnparatwe ‘cost difference
ne ofthese |

Which Bank controls the banking and
monetary structuré of India ?

(A) Axis Bank

(B) Reserve Bank of India

(C) State Bank of India

(D) World Bank

Whose model of the following
Economists makes useé of the “Stock
Adgustment Principle” to explain
business cycle ?

A) P.A. Samuelson
(B) J. M. Keynes
(C) N. Kaldor

(D) J. R. Hicks
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(A) T FiTeh
(B) R. 3. feFw
(€) . firds
(D) TR T

30. T TTYAT T TH W H! A Hred

31.

32.

Fifh

(A) qFT T TG 7 yerd i &
(B) 3T U gER % HHMIRR €4 &
(C) T g Ggfee Jem #d &
(D) 37H & F§ el

TR ht T A i, S fE &= F 7
aﬁh%,wmw%mmmra

(A) Ly=1(y, )
(B) Ly =f(y)
(C) Ly=A(r)
(D) Lo=f(y +r)
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(A) UTe. T. HFgeTe

(B) &. wq. i

(C) uferg

(D) wrste

N IHF aEfe £
(A) T &3

(B) IR &%

(C) Tafmfor &

o Aakd
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29,

30.

32.

33.

w_,_quqmw s

(B) A quantitative statement

(C) Both of above B

(D) None of above

‘A country is poor because it is poor'.

This statement is
(A) Colin Clark

(B) J. R. Hicks

(C) G. Myrdal

(D) Ragner Nurkse

Two indifference curve do not intersect
each other because
(A) Both do not give equal

satisfaction
(B) Both are parallel to each other

(6) Both give aqual satisfaction
(D) None of these

tive degmand,/for money,
ined by Keynes, can be

r d as

ho

I =

.

ZEs
—

e
(A) L,
(B) Le
(C) L,
(D) Ly = f(}’ +1)

The Growth Centered Definition of
Economics is given by

(A) Paul A. Samuelson

(B) J. M. Keynes

(C) Robbins

(D) Marshall

‘Basel criteria’ are relateq to
(A) Banking sector

(B) Transportation sector
(C) Manufactunng sector
(D) Services sector
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35. anyfrs T g % AFER T

S BT 2

(A) aTEdfaEh 3R - BEAT 3T
(B) aTfaeh 3T + BEAT-GL0T 3T
(C) e 3 4Td W Wl 3T
(D) arefaeh 3R = e H S 3T

159 fora oA & 1558 &
(A) Tfadenld a1

(B) A-Shel ARIE

(C) UA. . foe

(D) S eieg]

36.

7. TAH @ ITcaE F R -HI 27
(A) 31T L
(B) frmy &
(C) Tsit &
(D) Jeared I

38. mﬁﬁqﬁﬁﬁm%mﬁﬁmﬁﬁ
T o (qum) we T R 7

(A) Ferdrannait < axfereh @

(B) ferdrdiaa Seama

(C) Tt 3 ST Ay e
(D) T e i

40

35.

afde

31

“Scarcity of means to satisfy
of varying importance is an almos
ubiquitous conditions of human
behaviour.” This concept is given by
(A) J. M. Keynes

(B) Robbins

(C) Marshall

(D) Ricardo

According to Modern Theory of Rent,
rent is equal to

(A) Actual earning — Transfer earning
(B) Actual earning + Transfer earning
(C) Actual earning + Income earned
in past

Income earned

in past

(D) Actual earning —

96 The Chairman of the 15" Finance

mmission is
d ktikant:Das,
kaiya Naidu
/8ingh

(D) Ashok Lahri

37 Which of these is an indirect tax 4
(A) Income tax
(B) Corporation tax
(C) Capital gain tax
(D) Excise duty

Which of the following condition is not

true under monopolistic competition ?

(A) Large number of sellers

(B) Differentiated product

(C) Effective barriers against the entry
of firms

(D) Non-price competition

38.




40. fTet N wugea el wrafRa R 7

41.

42.

43.

44. i st e i @ feufa &, fRreh
g}w%

TrR.NR/R

{A) G<GW<Gn
(B) G>GW=Gn
(C) G=GW=Gn
(D) G<GW>Gn

40,
(A) Htfsen fa
(B) Frafa-mama
(C) Tsrerrefiy fifa
(D) fenfires Hfifa

HHT=IGIT 11T 95 1 &1 2rdl &
(A) 913 @ T F9T Yt 3R

(B) w1 @ TR = &l 31

(C) x-37181 & GHHT

(D) y-37&7 % UHHIR

et & <ht ygel S1Tavaeh 9d S -di e

for a8 IToEnst = STfrenad & ¢ ad

(A) Hrad S, =, Higid S
(B) HHTd SIlld = HiHid 314

HDR 2010 % $F8R HDI 34 ¥ fo i
ST o Gerchian! o1 A 3iEd 2 7

(EXIM) Hifa

41,

(C) dwra 3317 = 3|d 114
(D) 3ftga ATTd = {d 3™

43.

(A) Tanie lier 18R
(B) Iliie' lGNf* 'edu
(C) I | |

edu’ ‘poverty: 'BR
(D) lpoverty= lBFi’ 1GI\H

44.

(A) e farirg

(B) Taddiera same
(C) femey 3eure
(D) TEY I
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According to Harrod-Domar 9" C
model 1or?he full capacity use of ¢

and labour or for full employm
necessary that

(A) G<GW <Gn
(B) G>GW=Gn
(C) G=GW=Gn
(D) G<GW>Gn

Ricardo-Barro equivalence is related to
(A) Monetary policy

(B) EXIM policy

(C) Fiscal policy

(D) Industrial policy

Generally the slope of demand curve
is being

(A) Upward from left to right

(B) Downward from left to right

(C) Parallel to x-axis

(D) Paralléltd’y-axis

Which one of the following is the
firgg most condition of any firm for

:ﬂ:- ag its-profit:maximisation ?

(D) AC = AR

According to HDR 2010, HDI is
geometric average of which of the
three indices ?

(A) lann e ar i
(B) Ihte‘ IGNi' ledu
(C) | edu' pover‘(y' IBP.
(D) | poverty’ lBFl' |GNl

Perfect Competition is a market
situation which is characterized by
(A) Price discrimination

(B) Differentiated product

(C) Heterogeneous product

(D) Homogeneous product
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(A) 3 s
(B) ST s
(C) =3
(D) @
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(A)m@ﬁnhqa;mam

(B) & fmfor g2y

(C) wm@ famior g2

(D) mﬁmmﬁmﬁn 2
54. it gt wrafou

(A) o3 T &

(B) aﬁrznataoﬁn

(C) Texa =g |

(D) BT FEST = |

(C) (A) 71 (B) 7=
(D) &8 & #13 34

56. s#ﬁa #3-d fefsza #a=h @
(A) e #ig3  (B) 2 39
(C) WA F1g4 (D) E *9

57. @M 3w va w5 A dmd o4 @
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(A) MR:AH[néJ

(B) MR = AR(e ; -;]
(C) MR =AR(1-¢e)
(D) MR = m(p%)
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53.

54

(C) Income

(D) Investment inducing

What will be the effect of Increase in

the ‘Repo Rate' on the amount of credit

Created by commercial banks ?

(A) Credit creation will remain same

(B) Credit creation will decrease

(C) Credit creation will increase

(D) Credit creation will intially increase
and then decrease

Gitten goods related 10

(A) Superior goods

2N 6D Wals

NS A 35548

t9) Cr-'T'r'"*'* 000

QlD “I it KNJ
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he relationship between marginal
revenue and pnce elasticity of demand

i 1
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IS shown Dy

(A) MR = AR

(B) MR = AR

(C) MR = AR(1-e)

(D) MR = AR
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(A) ThuTe gHar g

(B) shatiaa gwan ==

(C) Yo wy g

(D) $7H © 13 e
e 1 & g eyt 3 Sy e FHueer
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(A) fel (B) U a
(C) T2 (D) T
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@W@'@Hﬁﬁlmﬁmw
e &

M
hF= KY

61.

63.

KR

® P="7

is concerned with g -

(A) Taxation only

(B) Public expenditure only

(C) Public debt only

(D) Both taxation and public
expenditure

59. Which Economist has important place
in Diffusion Theory of Incidence of Tax ?
(A) Ricardo (B) Robinson

(C) Pigou (D) Canard

60. Theory of exchange rate determination
developed by Gustav Cassel is

(A) Mint parity theory

(B) Purchasing power parity theory
(C) Balance of payment theory

(D) Nong of these

Who among the following Economist

‘ S wrrtten the book ‘Value and
d er (B) Allen
(D) Hicks

eto

Which of the following characteristics

is not associated with inflation ?

(A) Arise in price level

(B) The value of money is rising

(C) Expending monetary income

(D) Excess of demand over available
supply

62.

The correct equation given by Pigou

in Quantity Theory of Money is

M KR

KY M

KT Mv |
= 1

63.

(A) P= (B) P=

(C) P= (D) P=

MV
(D) P=—=




